chilk Vi 788 /F70\ UMD

Relay-type Terminal Block

v v F Pitch 27mm

Eirl] %
T;I;-;e Number F1 53
E 1%
ating ACB60V  60A
HEFR A HL 500V 1000MQ L E
Insulation Resistance | DC500V  1000MQ and over
i & £ 2500V 1 oRELRLE
Withstands Voltage |AC2500V 1 minute and over
Compati?lgé Wire 14mm’
IEIRE XFfT b 3.0N-m
Clamping torque for connection screw
18 =
Number of Poles 3P

— %7/ General Tolerance +0.5

103 ’ R,/ Scale ¥  HAL Unit mm‘
6.5 90 2 —=¢53
Rk ;
S ; —
! 0 M
245 27 27 = \@

AP prt S

7T S 7T S 7T S o
%)
o i [ ]——— 3P

® Ordering Form : Type No. No. of Poles (P)

OYN—EA T arl o TEY) TTOTIHEDBIELTEDRBIZ—CT & TRRALLEE W, HLAN—IERNMA L Z) 5,

® A cover is optional. To obtain one. add "-CT" to the end of the order description shown above. A cover will be delivered attached.

W4, Specifications.

&, Part No. % #/Part Name &, Material ##&,/ Standard <t/ Size 4ER /Treatment fis %,/ Remark
1 MO Base 7 x/—VEIIE  Phenolic UL B fs Black
2 SETER Terminal # G Brass C2680R W OE t 1.5 | ZyFhAvF Nickel-Plaed
3 AL E A Screw #  Steel SWCH-SPCC | M6X1.0X16 ¢ | Zv¥his% NickelPlawed | 71 =% ¥ Y EA Type)
4 A74=}7y¥2  Insert bush # 4 Brass C3604 $5.3 =9 Av¥  Nickel-Plated
5 ANFAF v & Hexagon nut #  Steel C2680R M3X0.5 SRR} Trvaleot Chromate Treatment
6 T IN— Cover RH—KR A= Polycarbonate UL MOTE ¢ 1.0 [& B Transparence | 73 3~ Optional
7 AN=IEE A Coverretaining screw #O§H Brass C2700W M3X0.5X8 ¢ | ZvFhAv% NickelPlaed | PWSWEXAANA VF Typed)
8 AfiF v b Hexagon nut #  Steel SWCH M6X1.0 SRR Trvaeot Chromat Treatment

29



